
























 

 

10.(a)   Following are the various operators in Relational algebra. 

 Basic operators 

o Projection (π) 

o Selection (σ) 

o cross-product (X) 

o Union (U) 

o Set-difference (-) 

o Rename  

 Derived operators 

o Join  

o Intersection (∩) 

o Division (÷) 

Students should have explained any four of these operators with a simple example which would make 

clear the use of particular operator. 

(b) Two relations R(A1, A2, A3, A4, …, An) and S(B1, B2, B3, …, Bn ) are said to be union compatible if they have 

same degree(number of attributes in a relation) and Dom(Ai) =Dom(Bi) for 1 ≤ i ≤ n. Dom represents 

domain of a particular attribute. 

Significance:  Here we have to explain why union compatibility is important for performing any set operation. 

Student should write the view as if we are trying to take the union of records present in two relations 

then we cannot imagine the resultant relation if  the two relations are not having same number of 

attributes. Because in the resultant relation the record will be of type of either of the relation and if the 

relations are not agreeing on the above specified two conditions then the resultant relation will have 

records of two different types which contradict a fact that a relation will have records of similar type.  


